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4]  The below inforgnation is avallabie for job #561: (4 pts)
Job 561
Direct materials S$12,000
Direct labor costs 517,700
Direct Labor hours 140 hours

Calculate the total manufacturing cost of Job #561.
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Al Lblem 3 Ll E ﬁl 'J' _____ W ikl 'Iflu.m
Part 1 Wﬂuﬂ\ﬂ"' y Physical " m” o i et cC
| A Units T - |
Beginning WIP § 1,600 b ||HN'|W|| b
o Trangferred.]n ! sl 2,000 ERBEED: '||'|| ..
ToAccountFor 3,600 LA e
7 |Completed and Transferred Out 3,200 3,200
8 |WIP: Ending 400 400

|To Account For

PART 2 Tntal Cost DM CE
13 | Beginning WIP Cost w5236,080 154,000 582,080
14 | Costs added in Curreni/Period 460 DOO 260,000 200,000
5 Total Cost to Account Fnr $696,080 $414,000 $282,080
6 'Tﬂtal Units to Account Fui* 0 i | : E I 3,600 3,440
7| Cost Per Equivalent Unit $115.00 $82.00

T T =T
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4 Part 3 Total Cost DM cC
1_Completed and Trangfeged out cos $630,40Q $368,00(
i . -_ 200,660 - $'{16* J )0
1 r ) §oclga0] 841040
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Problem 5 4

;1) Sales Budget
i_”_Expectedeales (Units)
| Unit Selling Price

|Expected Sales ($)

T 53700, 0
| $8,000,000 |
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‘ 3) DII'ECt Materlal :
. Umts ToBe Produced

b —— J

L | Add: Ta rget Endmg Inventory

1,000

> Total Requirements

24,500

1 Less: Beginning Inventory

1 ‘DM To be Purchased (M?)

16,500

‘CDST Per Unit N =

$200

DM To be Pu _-chased (5)

3 4) Direct Labﬂr

9 Units To Be Produced
andard Flement (Hg ur/Unlt)

$3,300,000

Ih Needed) o adue ol

5> Cost Per Hour S/Hour

3 =Direct Labor Cast (S)
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Flexible Budget Flexible Sales Volume StattoBdaet
2l EEN - Budget Variance b S o
Number Of Units 15,000 0 —| 15,000 2,500 F| 12,500
Revenue 13,500,000 750,000 F | 12,750,000 2,125,000 F | 10,625,000

5 | Variable Man. Cost | 8,400,000 | 1,800,000 UF| 6,600,000 | 1,100,000 UF| 5,500,000

7 | Contribution Margin | 5,100,000 | (1,050,000) UF| 6,150,000 | 1,025,000 @ F | 5,125,000
i v >
3| Less: Fixed Costs 780,000 310,000 UF| 470,000 0 —| 470,000

, | Operating Income 4,320,000 | (1,360,000)UF 5,680,000 | 1,025000 F | 4,655,000

IIIIIIII

B SBV (Levell)

2 Number Of Units | 2,500 F
3 Revenue 2,875,000 F
4 Variable Man. Cost | 2,900,000 UF
5 Contribution Margin| (25,000) UF
6 Less: Fixed Costs | 310,000 UF
o rating Income [AgR.000) BUF_ B gy B B
o P ATERN i R, B B
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Problem 6

F?-) COMMENT -> The Total SBV of $335,000 UF is divided into:
AN UF Price Variance of $1,360,000 and

AF Sales{ﬁolumef‘imriance of $1,025,000
Accordingly Favorable results were due

from Difference in Units Sold and not

om proper Brice and Efficiency Management
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Problem 5 4

;1) Sales Budget
i_”_Expectedeales (Units)
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Problem 6

F?-) COMMENT -> The Total SBV of $335,000 UF is divided into:
AN UF Price Variance of $1,360,000 and

AF Sales{ﬁolumef‘imriance of $1,025,000
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from Difference in Units Sold and not
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